
NSN 2920-00-577-8398
Contact Plate Assembly - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/2920-00-577-8398

General Description:

Consists of 601861 nut 18, 602203 lock washer 18, 601869 5/16-18 hex jam nut 18, a-011018 stationary contact 21, a-010200 contact

spacer 9, a-010202 contact spacer 9, a-010201 contact spacer 9, b-011095 switch board 2, a-011012 rotor guide shim 6, a-011013 rotor

guide3, 604538 5/16 sae flat dacmium plated washer 18, 601959 @5/16-18 by 1-1/2 steel cad plated screw 9, 604534 5/16-18 by 1-1/4 hex

head cad plated screw 9, 602112 10-24 by1-1/4 round head plated screw 9, 602111 10-24 by 1 round head plated screw 9, a-011025

pressure spring 3, b-011019 rotor switch 2, a-011010 movable contact 6, a-011009 movable contact 6, a-011007 pressure spring 3

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

https://aerobasegroup.com

